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Answer all the questions.
Draw diagrams wherever necessary.

Answer Sections A Multiple choice and B in separate answer-books.

MCQs should be answered first in the response sheet provided.
Section A
Multiple Choice Questions.
Single response sheet type 8 (Separate sheet attached) :
Draw and label :

1 Degrees of prolapse uterus.

2 Lymphatic drainage of cervix.

Write short answers on :

1 Invasive mole.

2 Chocolate cyst of ovary.

Write answers :
1 Management of misplaced IUCD.
2 Cervical intraepithelial neoplasia.

3 Management of dysfunctional uterine bleeding.

(8 x ¥ = 4 marks)

(2 x 1 = 2 marks)

(2 x 2 = 4 marks)

(3 x 4 = 12 marks)
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Section B
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A 20 year old unmarried girl with acute onset of severe abdominal pain. On examination there is

a cystic mass 10x15 cm in right iliac fossa.
1 What are the probable diagnoses ?

2 How will you confirm the diagnosis ?

3 How will you manage this case ?

‘Write short notes on :

1 Premenstrual syndrome.

2 Bartholin’s cyst.

Write short answers on :
1 Causes of postmenopausal bleeding.

2 Cryptomenorrhoea.

(3 + 3 + 4 = 10 marks)

(2 x 2 = 4 marks)

(2 x 2 = 4 marks)
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I. MULTIPLE CHOICE QUESTIONS
Paper II—OBSTETRICS AND GYNAECOLOGY
(2006 and earlier scheme)
Note.—(1) Do not write anything on the question paper.
(2) Write your register number in the answer-sheet provided.

(3) Select one most appropriate response and encircle the corresponding alphabet against
each question number in the answer-sheet provided.

1. The most useful diagnostic aid for carcinoma in situ of cervix is :

(A) Papsmear. (B) Colposcopy directed biopsy.
(C) Punch biopsy. (D) All of the above.

2. Post coital pill contains :
(A) High dose androgen. (B) High dose progesterone.
(C) Depot progesterone. (D) Low dose estrogen.

3. Bromocriptine is used for all except :

(A) Parkinsonism. (B) Suppression of lactation.
(C) Shock. (D) Prolactinoma.

4, Endometriosis is associated with the following conditions except

(A) Fibroid uterus. (B) Chocolate cyst of ovary.

(C) Endometrial hyperplasia. (D) Carcinoma cervix.

5. Secondary infertility is due to :

(A) Vaginal septum. (B) Turners syndrome.
(C) Uterine hypoplasia. (D) Tubal block.

6. Manchester operation is done for :

(A) Uterine prolapse. (B) Stress incontinence.

(C) Vault prolapse. (D) Repair of VVF.
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7. Trichomonas vaginitis is diagnosed by :
(A) Thin frothy discharge. (B) Blood stained discharge.
(C) Thick curdy white discharge. (D) Thick purulent discharge.

8. The diagnosis of dermoid cyst of ovary is made by :

(A) Clinical examination. (B) Aspiration.

(C) Examination under anaesthesia. (D) Radiography.

(8 x ¥ = 4 marks)



